[ Efficiency vs vertpos |

—_

20.09
4
20.08
(8]
§0.07
[
£0.06
0.05
0.04
0.03
0.02

0.4

0.01 .
E i i Pon
NE—1 Ly 1 Ly IR L1
o 1.0 N
= [ T HEES T
g . +| I T
1 {5 5 L= TR - - - -
r + -
0.95L . - ,
10° 10° 1 10 0
TP vertr (cm
—— DQMRKET TTUsSNOPUTTewDE autts
e = [ e el specpressy
Efficienq —— DQOM”™mKFEIt—X]| nusN8PU:NEW e;au t“specPLess3
—— DOM—mKFIt—_XiMinusNOPU_NEWdefault_specPLess4

N

=
[
>

[
>
>

2
$0.07F

e
=
)

Ratio

0.1
0.09F
0.08F

0.06F
0.05F

0.04F

0.03F
0.02
0.01

Vel

il SR BRI AT BV R A

[y

I Ehmu&mﬂh
: |[U””§””TI||

9535

-20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

N
>
o

£
n

Y
>
>

[S]
c
()

=
£
3]

0.1
0.09
0.08
0.07
0.06)
0.05
0.04
0.03
0.02
0.0

Sim. PV z (cm)




	Contents
	Page 1


